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Module 1, Layer 3, Sector 3, End 0 - Raw ADC Time

Raw ADC Time
50— Entries 9392
Mean 27.59
L RMS 1.139
%2 I ndf 706.4 / 653
40— Prob 0.07232
Constant 32.71 +0.46
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Hit ADC-Extracted Time

Module 1, Layer 3, Sector 3, End 0 - TW-Corrected ADC Time

Counts
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TW-Corrected ADC Time
Entries 9392
Mean 9.449
RMS 1.028
%2 / ndf 614.1 /596
Prob 0.2948
Constant 35.37 +0.48
Mean 9.441 = 0.011
Sigma 0.9889 = 0.0086
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Module 1, Layer 3, Sector 3, End 0 - Raw ADC Time
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Raw ADC Time
Entries 9346
Mean 30.82
RMS 1.014
%2 / ndf 470.4 /1 492
Prob 0.7507
Constant 43.38 + 0.58
Mean 30.82 + 0.01

Sigma 0.9848 =+ 0.0084
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Hit ADC-Extracted Time

Module 1, Layer 3, Sector 3, End 0 - TW-Corrected ADC Time
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TW-Corrected ADC Time

Entries 9346
Mean 30.82
RMS 1.014
%2 / ndf 470.4 / 492
Prob 0.7507
Constant 43.38 = 0.58
Mean 30.82 + 0.01

Sigma 0.9848 =+ 0.0084
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Hit ADC-Extracted Time
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Module 1, Layer 3, Sector 3, End 0 - Time-Walk Fit: CO + C1/(E-C3)"C2

2 I ndf 7834 / 7657
T T T T T T T T T T T T PP 0.07669
R S Co 30.81 = 0.01156
B . . . C1  -2.768e+06 + 0.004291
- - - - c2 6.794 = 1.43
R T T _— C3 1743+ 1.43
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Hit Pulse Integral



